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Question Number : 1 Question Id : 97359717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term EDVAC stands for;

Options:

, w Electronic Distinct Variable Automatic Computer
-  Electronic Discrete Variable Automatic Computer
- % Electronic Disk Variable Automatic Computer

, » Electronic Data Variable Automatic Computer
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Question Number : 2 Question Id : 97359718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is used to store intermediate arithmetic and logic results in a CPU?
Options:

1« Accumulators

> % DBuffers

- % virtual Memory

4 % Secondary Storage
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Question Number : 3 Question Id : 97359719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A device or computer program capable of Coding and Decoding audio data stream is known as:
Options:

, % Audio Signal

-~ % Audio Throughput

= # Audio Stream

4 +« Audio Codec
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Question Number : 4 Question Id : 97359720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A computer device used to draw images and create graphics and animation is known as:
Options:

1 ® Scanner

o « Graphics Tablet

- » Copier

4 % PDA
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Question Number : 5 Question Id : 97359721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term OLED in Video Display stands for:

Options:

, w Organic Light Enhancing Diode

- u Oxidized Light Emitting Diode
- « Organic Light Emitting Diode

4 % Oxidized Light Enhancing Diode
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Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 97359722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the follvwing 15 emploved i Phivsical Seounity Systems (o read personne] eredentials to allow passage throngh
a locked door?
Options:

1 « Access Control Card Readers
5 R Security Scanners

= ® VR Sets

4 % Memory Card Readers
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Question Number : 7 Question Id : 97359723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT used with regards to Integrated Circuits?

Options:

, % SSI
o o PSI
3 % MSI
4 % VLSI

Question Number : 7 Question |d : 97359723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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4 % VLSI

Question Number : 8 Question Id : 97359724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following protocols was designed by Microsoft to facilitate commmnication between Computers and USE
Mass Storage devices to bransfer Images, Awdio and Video Files?

Options:
1 « Media Transfer Protocol

> # File Transfer Protocol
= % Voice Over Internet Protocol

4 % Simple Mail Transfer Protocol

Question Number : 8 Question Id : 97359724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 97359725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A 2-Dimensional patterned array used to represent characters. symbols and images is known as:

Options:

1 # Line Work
> % Resolution
5 « Dot Matrix
4 % \Vector
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Question Number : 10 Question Id : 97359726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following has the fastest access time in terms of data retrieval?

Options:
1« SSD
> % HDD

- » Magnetic Tape

4 B CD
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Question Number : 11 Question Id : 97359727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A self-contamed step by step set of operations that only maodels the actual working ol a compurter prograne bl cmmot be
executed directly 15 known as:
Options:
| Algorithm

> % Batch File
3 % Executable

4 w Shell Script
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Question Number : 12 Question Id : 97359728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a flavour of UNIX?

Options:
1 % Linux

~ % FreeBSD
-  Python

4 # Darwin

Question Number : 12 Question Id : 97359728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 % Linux

> % FreeBSD
5 « Python

4 % Darwin

Question Number : 13 Question Id : 97359729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Flight Simulator usually belongs to which of the following categories?
Options:
| % Open Source Software

> % Embedded Software

s ® System Software

4  Application Software
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Question Number : 14 Question Id : 97359730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assembly language is converted into executable machine code by utility program referred to as:

Options:
1 « Assembler

» s Debugger
= % Macro
4 % DParser
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Correct: 1 Wrong: 0



TETEE SR ¥ B gRfEd v gEw veeeEd mE FE A oietEs R = E 3w
A F A E7
Options:

1_&-"%
g_w%ﬁ?IT
S.Qﬁﬁ
4_&@qu

Question Number : 15 Question Id : 97359731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A software program that operates or controls a particular type of device that is attached to a computer is known as:

Options:
, = Interrupt
> « Device Driver

5 % 1rap

4 % Micro Controller

Question Number : 15 Question Id : 97359731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 16 Question Id : 97359732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following files is a default operating system Shell for DOS 0.8.?

Options:
1 % Autoexect.bat

> « Command.com
3 % Kemel32.dll

4 % Run32.dll

Question Number : 16 Question Id : 97359732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
1 # Autoexect.bat

> « Command.com
= % Kernel32.dll
4 % Run32.dll

Question Number : 17 Question Id : 97359733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of booting a computer from a network rather than a local drive is known as:

Options:
, % Scheduled Booting

-  Network Booting

5 u Aftended Booting

4 % Silent Booting
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Question Number : 18 Question Id : 97359734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following devices is responsible for forwarding data packets between computer networks?
Options:

| % Repeater

> % Hub
z % Modem

4 + Routers

Question Number : 18 Question Id : 97359734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 97359735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The digital image that is used as a decorative background on the screen of a computer is known as:

Options:
; w» Desktop

- % Screen Saver
5  Wwallpaper

4 % Image

Question Number : 19 Question Id : 97359735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 97359736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the follvwing components of Winndows acts as o safely net for nnstakenly deleted fles or felders fom the hard
clish?
Options:
| % My Documents
> % Internet Explorer

- % Task Bar

4  Recycle Bin

Question Number : 20 Question Id : 97359736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 21 Question Id : 97359737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following options is nsed for powering down a compurer while retaining its ciurent state and saving

electrical power?
Options:

1 « Hibernate
- x Sleep

= % Restart

4 % Shutdown

Question Number : 21 Question Id : 97359737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Question Number : 22 Question Id : 97359738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of encoding messages in such a way that only authorised users can read it is referred to as:

Options:
, = Decryption
o of Encryption

5 % Privacy

4 8 Message Secrecy



Question Number : 22 Question Id : 97359738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 97359739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In securing websites. which of the following methods identifies a nser as a Human and not an antomated program
feeding in the data?

Options:

1 ® SPAM Locker
> # Firewall

5 % Honeypot

4 v CAPTCHA

Question Number : 23 Question Id : 97359739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 97359740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following options is the measure of the effectivensss of a password in restricting password guessing?
Options:

1 # Password Code

» » Password Length

5  Password Strength



4 R Password Scope

Question Number : 24 Question Id : 97359740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 25 Question Id : 97359741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following terms describes an error in computer program that causes it to produce undesired results?

Options:

1 % Software Boot

> # Software Crash

=z % Software Malfunction

4  Software Bug

Question Number : 25 Question Id : 97359741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 97359742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is used to prevent, detect and remove malicious software from the computer system?

Options:
1« Anti-Virus

> # Antigen



= % Anti-SPAM
4 = Antibody
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Question Number : 27 Question Id : 97359743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The file extension .PNG is a short for:
Options:

, w Partitioned Network Graphics

-  Portable Network Graphics
- u Presentation Natural Graphics
, % Portable Natural Graphics
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Question Number : 28 Question Id : 97359744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is NOT a file / folder attribute in traditional DOS and Windows systems?
Options:

1 % Archive



- % Hidden
- » Read Only

4  Write Only
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Question Number : 29 Question Id : 97359745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In file management. a permanent reproduction of file data in the form of printed document is known as:

Options:
, % Soft Copy

5 ® Document Backup
-  Hard Copy

4 % Blueprint
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Question Number : 30 Question Id : 97359746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows O.S. the key combination of “CTRL + SHIFT + ESC” would open:
Options:

1 % Control Panel



> % Wwindows Device Manager

5 % Programs Menu

4w Windows Task Manager
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Question Number : 31 Question Id : 97359747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of using a computer to create, edit and print documents is commonly known as:

Options:
1 % Word Art

-  Word Processing
5 % Wword Formatting

4 % Word Definition
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Question Number : 32 Question Id : 97359748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a Find and Replace option in MS Word?

Options:



, w Find Whole Words Only

> % Match Case

5 Find By Document Date

4 % Match Prefix

Question Number : 32 Question Id : 97359748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS == # T § ¥ 77 7 Beey mEE At frem (g o o) & & B seee =
e §7

Options:

L4 Waﬁ%rmﬁ ﬁéaﬂl

, « P FE FET (HT FH)

gt STATES H a@ W geaT

, « 39H e wE (AT Sifthe)
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Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS Word. the file extension . XPS stands for:
Options:
, % XSLT Paper Styling

> # XSL Page Style
- » XML Page Specification
4 « XML Paper Specification
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Correct: 1 Wrong: 0



A word document containing Standard Laboratory results has multiple copies
distributed to a number of site supervisors for data feeding. How to view and/or
retain the original as well as the revised values?

Options:
1 % Cross-Reference
> « Combine

- » Find and Replace

4 % Split Window
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Correct: 1 Wrong: 0
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To write a mathematical expression Z- = X= + Y- which of the following features must be used?
Options:
| Superscript

> % Subscript

5 % Paragraph Spacing

4 % Drop Cap
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Question Number : 36 Question Id : 97359752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS-Word. to reduce font size which of the following shortcuts is used?

Options:
; ® CTRL +SHIFT+C

-~ % CTRL +Retumn

5 w0 CIRL A+

4 % ALT+=

Question Number : 36 Question Id : 97359752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS-Word H, Blee F HFT FI FF Fi F &0 FF oficehe F1 39AT Far Jrar 22
Options:

1 # CIBL # SHIFT + C
- # CTRL + Return
5 & CTRL +{

4% ALT + =

Question Number : 37 Question Id : 97359753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following keybonrd shortents 15 nsed (o pavigate from one worksheet 1o the next in the inereasing ovder of
worksheet mumbers?
Options:

. « CTRL +PgDn
> % CTRL +F9

. x CTRL+PgUp

4 % CTRL+F10

Question Number : 37 Question Id : 97359753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁaﬁﬁmﬁ#aﬁywﬁwaﬁaﬁﬂ&mﬁaﬁhwﬂ%ﬁmﬁm?ﬂﬁﬁm
IOEET BT =T 27

Options:

. » CTRL + PgDn
> = CTRL + F9
. » CTRL + PgUp



. = CTRL + F10

Question Number : 38 Question Id : 97359754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcuts is used to insert a new worksheet in a workbook?

Options:
1 % SHIFT +F9

> % SHIFT +F10
5 « SHIFT +FI1
4 % SHIFT +FI2

Question Number : 38 Question Id : 97359754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Thge H Ue A5 Foelie oifie &= & v g oicewe &1 39T o s 22

Options:

. % SHIFT + F9
> % SHIFT + F10
= v SHIFT + F11
s % SHIFT + F12

Question Number : 39 Question Id : 97359755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To copy cell formats from one cell to another which of the following utilities can be used?

Options:
1 % Conditional Format
> « Format Painter

%z % Format Cells

4 u Cell Styles

Question Number : 39 Question Id : 97359755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
S BIAC HT Uh A 8 GEY HA H Al el & o0 ohE 3TAAT 1 39T Bhar ST 872

Options:

1 ® ﬁ?!ﬂﬁ'lﬁﬁe"{
, v e S



Question Number : 40 Question Id : 97359756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tying a range of cells together so that they can be collapsed or expanded together is known as:

Options:

1 ® Sort

- % Consolidate
= # Subtotal

4 Group

Question Number : 40 Question Id : 97359756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

0 # O IS S UF Y WS A S8 UF WY FOTAE W vERas FE ST ', 39 ghear w5
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Options:

, % WIS

, « FENIST (FATFT FE)

HEeie (o7 I1T)

3 ®

T
4¢3

Question Number : 41 Question Id : 97359757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The expression = MOD (558, 10) would return which of the following value?

Options:
1.+ 8
> % 558
T W 1

4 % 558

Question Number : 41 Question Id : 97359757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
=T Hffeaieg = MOD (558, 10) &1 IRums Fa1 gem?

Options:
1.« 8

- % 55.8
o ® 1
4 % 558

Question Number : 42 Question Id : 97359758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following Chart types would be useful for comparing values over categories?

Options:
, » Dot Graph

> o Column Chart
3 # Line Chart
4 % Pie Chart

Question Number : 42 Question Id : 97359758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

freafaf@a 7 & BFw = 9or @ A0 & 93T A= (377) H goar Har 39AET g@Em?
Options:

1 ® ST AH

Question Number : 43 Question Id : 97359759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a function in MS Excel?

Options:
1 ® MAX

> #® SUM
3  AVG

Question Number : 43 Question Id : 97359759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

f=fo@T # ¥ FiaT T w59 MS Excel ¥ TafT =gl &7
Options:

1 & MAX
> ® SUM
=z « AVG
4 % MIN

Question Number : 44 Question Id : 97359760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following series type is NOT valid for Fill Series option?



Options:

1 % AutoFill
- % Growth
3 # Linear

4 « Time

Question Number : 44 Question Id : 97359760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

= &1 s & v oo J & #i9 a1 d8F 91 U T4 82

Options:
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Question Number : 45 Question Id : 97359761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Amn enterprise needs to maintain expenses on Stationary, Transportation. Snacks. Telephone and Mobile Bills ete. for
every month. The same nesds to be analysaed in order to cut down the wmecessary expensas. What would be the best
Analytical tool from the following options?

Options:
1 « Pivot Table

-~ % Macro
5 » What-if Analysis

4 % Filter

Question Number : 45 Question Id : 97359761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UF IZTH 1 37 FAEiE & T2, U=, A13A], SwE 6T JEEd B F = 1 1mIEwE S 6
HETET § ¥ s GEl T FF S & T 59 aeemur e ot 1 e
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Options:

| » TEae Tae (Pivot Table)
o ® P

L x FE-FH faeawor

4 % ol

Question Number : 46 Question Id : 97359762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Which of the following chart types is similar to a Scatter Chart but unlike the Scatter Chart compares the set of three
values instead of twoT

Options:
1 % Pie Chart

> « Bubble Chart
=z % Area Chart
4 % Radar Chart

Question Number : 46 Question Id : 97359762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frfales 3 & 9 & &9 51 997 T 918 S0 @9 8, g Tl T2 F Bedd g i 5w
I () B g T £7

Options:
.
5> FEA TGE
- % TRET T
4 % =T =me

Question Number : 47 Question Id : 97359763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of receiving the data from the internet is known as:

Options:
,  Downloading
- % Uploading
- » Forwarding

4 w Encoding

Question Number : 47 Question Id : 97359763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SITAT U 3T WIS FIA T FHAT FT FAT FEa 87

Options:

| ST3aellfEeT
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Question Number : 48 Question Id : 97359764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is used to set visual appearance of the web page besides HTML?

Options:
; % TCP

5 % CTML
s % XML
4 & CSS

Question Number : 48 Question Id : 97359764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HTML & 3#fafea 39 9 # 797 T9-T97 (visual appearance) I T@mae & Fufg == & v
F=foma # ¥ B9 SweT &1 39T G JmEr 22

Options:

. % TCP
» % CTML
2 % XML
. v CSS

Question Number : 49 Question Id : 97359765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is an internet standard for electronic mail transmission?

Options:
, w Simple Message Transfer Protocol

5 o Simple Mail Transfer Protocol

- % Simple Mail Translate Protocol

4 % Simple Message Type Protocol

Question Number : 49 Question Id : 97359765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Solcleeh Hel H=RUT (STHTA) & v Teaoi@a § 9 Si9 @ S&eT sciae Fuss &2
Options:
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, o TS AT TERT e
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Question Number : 50 Question Id : 97359766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following protocols is used for delivering audio and video over IP networks?

Options:
, % UDP

> « RTP
5 % SMTP
4 % BGP

Question Number : 50 Question Id : 97359766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

IP sead® T #Hear v fifewr 31 g9 ¥ B FEnflE § ¥ By S & 399 B =6 i
Options:

., % UDP

> « RTP

- = SMTP

. % BGP

Question Number : 51 Question Id : 97359767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In webpage designing, the term CSS is a short for:
Options:
, » Content Style Sheets

- # Category Style Sheets
5 o Cascading Style Sheets

4 » Content Storage Sheets

Question Number : 51 Question Id : 97359767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e feemefaer &, CSS & qur &9 Fr g ar 87

Options:

| % T TR AEH

, % I FIFA ofTH
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, % FeC TR e

Question Number : 52 Question Id : 97359768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The process of moving or copying the data between the two storage devices is known as:
Options:

, » Downloading

> « Data Transfer

- % Uploading

4 % Computing

Question Number : 52 Question Id : 97359768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ar TR f3arsE & 3T HF ;1 FI e FT TR # F FEd 87

Options:

1% ST3alell %Ei

Pl ST STHEY

5 % TS
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Eead the following passage and answer the questions given after it.

YOGA break conld become part of office schedules of organtzations if India Inc. accepts a suggestion by the
Croviernenl,

Highlizhting the benefits of yoga in lowering stress. Ministy of AYTISH has snggested corporate howses to enconrage
pivyzical exercise regime.

The Ministry has requested participation of corporate world on International Yoza Day. The government has asled
business chambers and other corporate bodies to make & 30-minute voga break mandatory for their emplovees,

“We have mvited all corporale houses to participate m Yoga Day s vesr becanse smiployees in the corporate sector
face a lot of stress. We have written to corporate bodies like the Federation of Indian Chambers of Conmmernce &
Incustry (FICCT) and Institute of Chartered Accountants of India for releasing a cirenlar in corporate offices associatad
with them to include a 30-mimute mandatory voga programme.” said Anil Kumar Ganeriwala. Joint secretary, Ministory
of ANTISH.

“AYTSH Mimistiy is ready 1o provide all necessmy help 1o the corporate sector employees. They are always imder
pressure becatse of long working hours, sithing postures o iravelling tune. They need to be rejuvenatad and yoga can be
the answer for them.™ he said.

In India software industry has becorme one of the fastest growing sectors smploving laklis of people and medical
complaints are coming from these emplovees, incloding depression. eve & neck pain and work related stress due to tight
deadlines.

As per the common yoga protocol of the AYUSH munistry. medical research has uncoverad many phiysical and mental
benefits that voga offers. corroborating the experiences of millions of practitioners. A small sampling of research shows
that voea 1s beneficial in reducing depreszion. fatigue. anxisty disorders and stress. It helps in the management of
diabetes, respiratory disorders. hvpertension and many lifestvle related disorders.

*Asyouth is the firtire of India, they need a hife without stress. Many corporate howses have started optional voga
progranmnes, We sigzest makmg it mandatory for the emplovess 1o stant these programmmes for al least half an hour™
said Ganeriwala.

*We have also advized the corporate sectod to conduct brief worlishops on voga as this will craate interest and awarensss
among employees.” he said

Sub questions

Question Number : 53 Question Id : 97359770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main theme of the passage is:

Options:
, w the physical exercise regime.

- « the benefits of yoga.
5 » siress management.

4, % therole of corporate houses in popularizing yoga.

Question Number : 54 Question Id : 97359771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Anil Kumar Ganeriwala 1s:

Options:

, w Minister of state, AYUSH Ministry.

- u General Secretary, Ministry of AYUSH.
- « Joint Secretary. Ministry of AYUSH.

4 % Minister with Independent charge.



Question Number : 55 Question Id : 97359772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The pronoun WE refers to:
Options:

1 « The Government of India

- % DBusiness Chambers

5 % Corporate Houses

4 % Government Employees

Question Number : 56 Question Id : 97359773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Mark the option which is false.

The employees working in the private sector are very stressed because of:
Options:

, w long working hours.

- % tight deadlines.

5 » long travelling time.

4 « Hnancial problems.

Question Number : 57 Question Id : 97359774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the writer Yoga:
Options:

, % should be optional.

> % 1s desirable.

5 should be mandatory.

4, % 1s anambitious enterprise.

Question Id : 97359769 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 97359770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HATOE & THE AT FT 87

Options:
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Question Number : 54 Question Id : 97359771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HiAeT FAR TAJETT RIAE?
Options:
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= Hﬁmﬁﬁ.wm
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Question Number : 55 Question Id : 97359772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 97359773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 97359774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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CUANTITATIVE APTITULE
Section Id : 97359719
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359719
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 97359775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following fraction is greatest?

Options:

1 # 15



Question Number : 58 Question Id : 97359775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
il F & #ie 7 31Ul ga8 921 8?

Options:

1 ® 15

Question Number : 59 Question Id : 97359776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An article was sold at 26% loss for Rs 592. The loss (in Rs) is:

Options:
, % 154

5 % 198
5 208
4 % 210

Question Number : 59 Question Id : 97359776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
UF FE F 592 F 26% R H =N 1) wrer (v A) 7

Options:

, % 154
. % 198
- v 208
4 % 210

Question Number : 60 Question Id : 97359777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In a fort, 300 persons had food provisions for 95 days. After 25 days, 50 persons left the fort, How long wounld the food
last?

Options:

. % 715 days

- w 80 days

5 84 days



4 % 90days

Question Number : 60 Question Id : 97359777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T e #, 300 =T F v o5 St & wew weel & w4 25 fier & w50 =ofew e
Tt oo =0| 3F wew mEr e e =i

Options:

| % 75 o=
> = 80 fe=
3.#‘84%\?
4 = 90 fe&

Question Number : 61 Question Id : 97359778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average weight of 44 students in a class is 52.3 k. If the average weight of 22 students is 56.7, then the average
werght (in Kz) of the remaing students in the class 15 closest 1o

Options:

1 % 427
- o 44.8
= % 453
4 % 4538

Question Number : 61 Question Id : 97359778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TE FET A 46 T F HEES IFF 52.3 kg ¥ T 29 v F iUAS 999 56.7 & AT FEw F odw
o =T FHoaa 597 (s 8 R 7 o =9 T 5= F i 17

Options:

| % 427
v 44.8
2 # 453
. # 4538

Question Number : 62 Question Id : 97359779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Im a 40 litre solution of acid and water, 10% 15 acid. The quantity of acid that needs to be added to 1t so that acid content
becmnas 25% in the resulling solution is:

Options:

1 % 4 litres

> % 06 litres



= « 8 litres
4 % 9 litres

Question Number : 62 Question Id : 97359779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

UTEE T O F 40 FEr T 7 10% ofgs & Tud Geeer e # viaE e e s s=aaEe
Tsor & vffs & A 25% &

Options:

;% 4 o
> % 6 ferex
3 v 8 forex
4 % 9 forex

Question Number : 63 Question Id : 97359780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The side of a regular hexagon is 4v3 cm. Its area (in cm~) is:

Options:

1 ® 36

> % 36V3

=z B 72

Question Number : 63 Question Id : 97359780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afdT s @FarTa) #9493 cm § 3HE S96a (cm? H) &

Options:

> % 36v3
i@ T2V3
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Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359720
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 97359781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a certain code, TRIPPLE is written as SQHOOKD. How is DISPOSE written in that code?

Options:

1 v CHRONRD
-~ % DSOESPI
= % ESJTPTF
4 % ESOPSID

Question Number : 64 Question Id : 97359781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T 39 mE & TRIPPLE = SQHOOKD firmr =mar &1 =7 3% =1 # DISPOSE =% frar =mrm?
Options:

1 «+ CHRONRD
. » DSOESPI
- % ESJTPTF
4 % ESOPSID

Question Number : 65 Question Id : 97359782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
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In the following question. various terms of a letter series are given with one tenn missing as shown by (7). Choose the
missing term out of the given altermatives.

LhOx I A

Options:
1.« E
> % C
3 ® S
4 % G
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Mamuta walks 14 metres towards west, then tums to her right and wallcs 14 metres and then tums to her left and walks
[0 metres. Again tuming to her left she walks 14 metres. What is the shortest distance (in metres) between her stating
point and the pressnt position?

Options:
1 % 10
> o 24
= % 28
4 % 38
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If Neena savs, “Amta’s father Raman 15 the only son of my father-in-law Malupal ™, Then how is Bind, who is the sister
of Anita. related to Mahipal?

Options:
1 # Niece

o  Grand Daughter
z % Wife

4, % Daughter-in-law



Question Number : 67 Question Id : 97359784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I AT = FE "ma:ﬁm-:ﬁﬂﬂﬁﬁh{ Hﬁﬂlﬁﬂ?umm?:‘ﬁ?'l ar s FrEEa Be
AR H T ATET FE?

Options:

| % AN (TS
5 o Srar
E_Wm
4.%3%

Question Number : 68 Question Id : 97359785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If A stands for +, B stands for —, C stands for x_ then what is the value of (10 C 4) A (4 C4) B 6?

Options:
1 ® 060
> % 50
3 o 50
4 % 40
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Studv the diagram given below to answer the question that follow,

The triangle in the figure depicts women in villages, the square depicts the unemployed women and the circle depicts
the educated women.
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What does lefter D reprasant?
Options:
. w» Uneducated women in villages

>  Unemployed women in villages who are not educated

5 » Educated unemployed women

4 w Educated employed women
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In which field of Art did Jamini Roy make his name?
Options:

, % Sculpture

> % Music

o  Painting

4 % Drama
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Who was the first Indian to get selected in ICS?
Options:

, « Satyendranath Tagore
- % Sarojini Naidu

- » LalaLajpat Rai
4 % C.R.Das
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The National Calendar. which is based on Saka Era. was introduced in the year:

Options:
1 1957

> % 1951
5 % 1949
4 B 1947
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Which country won the 2014 FIFA World Cup held in Brazil?



Options:
1 Germany

o w Argentina
= % The Netherlands

4 % Brazil
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The Oscar-winning music composer A. R. Rahman has a street named after him mn:

Options:

, % Spain

> « Canada

= % United States of America
4 % France
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Who is the author of the book ‘Mother India’?
Options:



1 % Annie Besant
> # Katherine Frank
-  Katherine Mayo
4 % Sister Nivedita
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Speaking at The Econorric Times Global Business Surrrmit 1ast Friday, Prime Minister MNarendra Modi outlined
ar econonud phulosophy in which the government empowers the people to use their owrl native intelligence,
creativity and entrepreneurship to create jobs and incomes, and pull themselves out of poverty and into
prosperity. In this wision, the government 15 the enabler and the people thermnselves the change agents. The
shift in emphasis from the philosophy of the previous UPA regime is unmistakable. The UPA presented itself
as the provider, and not just the enabler. This wiew outlined by the FM is fully shared by his ministerial
colleagues who spoke at the surmmit, all five of them articulated the same wision. Ves, the PM had unweiled his
ECOTOITIC vision at the GES last year, where he announced his ambition to see India grow into a 20 trillion
dollars econormy. Yet, there is a shift in nuance. Wwhile the government is primarily the enabler, it will continue
to play caregiver for the poor and the disermpowered. Subsidies will continue, but will be better targeted. The
Aadhaar project initiated by the previous government will help uniquely tag bank accounts of the deserving
poor, to which the subsidy would be transferred, protecting against leakage and, further, allowing a
cormpetitive market to function for the products whose prices were earlier distorted by subsidy and have now
been freed up. The PM used his speech to signal his pro-poor bias, by putting subsidy on par with outlays or
tax breaks for industry, and ribbing the assernbled industrialists and policy wonks on the elitist bias inherent
in calling what the poor and the farmers receive as subsidy while terming concessions to industry as
incentives. All this is welcome. Equally welcome is another feature of the Prime minister's vision: India's
growing and benign influence on the world economy. It is not just that India's sustained high growth in a
stagnant globe will help all other economies, but also that Indian initiatives like this will make a qualitative
change to the quality of life around the world. Consumers are Corrrmorn mar, whose purchasing power is
reduced by increasing service tax. In the last budget, it has further reduced purchasing power of cormumeon
man. Government has failed to generate additional income/revenue, did not stop extending subsidies to rich,
billioraire, never instructed banks to raise capital from stock market when stock market was at peal:, never
took timely decision on loss making.
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